****** 2PB1'C
%9 APEX DYNAMICS, INC.

TE SR B E RBR AR - WA HBERBRE < 25 REEAUEENG > BEKHEHRR > BEHER
BRRES - IR0 4 HEIBAR S -

aﬁgt
O |

a. BT RE LRE2E - U ER#E DR EREEIWORY  SEYNE B
b RS BLipmin . PIETTAEFTNIICP o =

THDINR - 5 E R T 8
EPy

BUNMEARE  DRMEBANDR (k—) E&EH o UBR BERE—EEED

B2 5% » (& 1~4 DIES snmrom | BEEEAzsETES S
pEe o WA BIRE  BRFRWEA<R SR 9 46 518 1 0000 455 -

A H/ERBRMBIIER » LRMABANR (R—) BE HEER
ZIBNE - IK1~4NERE > BEDWFRIRMEE -




i L EHENS] (v 8.8 R S E Y 10.9 IR SR I 12,9 RISV S )
[mm] [Nm] [In-lbs] [Nm] [In-lbs] [Nm] [In-lbs]
M3 x 0.5P 2.5 1.3 12 1.8 16 2.1 19
M4 x 0.7P 3 3 27 4.1 37 4.9 44
M5 x 0.8P 4 6.1 55 8.2 73 9.8 87
M6 x 1P 5 11 98 14 124 17 151
M8 x 1.25P 6 25 222 34 302 41 364
M10 x 1.5P 8 49 434 67 594 80 709
M12 x 1.75P 10 85 753 116 1028 139 1232
M14 x 2P 12 137 1214 186 1648 223 1976
M16 x 2P 14 210 1860 286 2534 343 3038
?\‘: M %%EQ%E{E ﬂ\ﬂ\ J«ﬂ;‘ _ij‘(‘%
NN e /E\Jii_ ! II‘? ;I\?R \ \J _{ ELI' jt\l_\‘J T[jéj@}_g JJ
[mm] [mm] [mm] [Nm] [In-1bs]

ABRO42 #oay <11 M3 x 0.5P x 8L 2.5 2.1 19

AFR042

AER050 ] <11 M3 x 0.5P x 8L 2.5 2.1 19

ABRO60 oAy <14 M4 x 0.7P x 12L 3 4.9 44

AFRO60

AER070 @y <11 M3 x 0.5P x 8L 2.5 2.1 19

ABROSO #ooay <19 M5 x 0.8P x 14L 4 9.8 87

AFRO75

AER090 &y <14 M4 x 0.7P x 12L 3 4.9 44

ABR115 oAy <32 M6 x 1P x 16L 5 17 151

AFR100

AER120 ST <19 M5 x 0.8P x 14L 4 9.8 87

ABR142 oAy <38 M8 x 1.25P x 20L 6 41 364

AFR140

AER155 @y <32 M6 x 1P x 16L 5 17 151

ABR180 #o Ay <48 M10 x 1.5P x 25L 8 80 709

AFR180

AER205 %oy <38 M8 x 1.25P x 20L 6 41 364

ABR220 #o Ay <55 M12 x 1.75P x 30L 10 139 1232

AFR220

AER235 ] <48 M10 x 1.5P x 25L 8 80 709

B PREERE 0 S R o TR TR | SHT AL 20% - IR -

P10 58

: 886-4-24650219 /

fiH : 886-4-24650118

ik &P EERE =

APEX-2014-12-1 E



	2PB1-C
	2PB1-C-背

